= o | #® B | ®& E | RASHE
R6.4.1 |3 s ROFE RS 250,000
R6.7.15 B - KERERE(AGE) |OOKE EXYHE 15%
R6.7.15  |i £FAFAREEEEE HEEE RXLT
R6.7.17  |h *EFIAKMBEAE )('?iuﬁfizﬁ “
R6.7.18 |f BHEEE (ZDfh) HERHR N O — > FFER
R6.9.15 |1 &fF& Xt (RIHER) 1,000,000
R6.9.20 |e BHEEE (AGEH) HEER FERL 16%
R6.9.21 B - KEREBRE(AGE) |LEERAE (F5H0)
R6.10.21 |k TFAARBEHRE THFEERAET (F5RD
R6.11.22 | ZBENKEIZEEEE |£YRE GBS
R7.1.15 |1 Xf¥= Xt (BRER) 500,000
R7.1.20  |q AAES 154
R7.1.20 |a ZE R 2K - BlaR24
R7.1.20 |a &N EHHE
R7.2.28 B - KBEEE (Z0f)|OOKEEMETIE(EE)
R7.3.1 SBE - PHMERE - ERHRSERE (3%, Jv—R)
CH 1,750,000




X H & 8

(RITEX) =5 A
250,000
100,000 150,000
20,000 130,000
30,000 100,000
100,000 0
1,000,000
300,000 700,000
300,000 400,000
10,000 390,000
50,000 340,000
840,000
650,000 190,000
50,000 140,000
30,000 110,000
100,000 10,000
10,000 0
0
0
0
0
0
0
1,750,000 4,750,000




